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fABERAR (6/15)  (N=10) 2203 = 136 1025 = 212 950 = 083
X (N=12) 2401 = 255 1172 = 410 886 = 091
(7/12) SEFA359% (N=12) 2467 = 221 1354 = 337 887 =+ 1.01
BEFI70% (N=12) 2591 = 187 1736% = 553 973 * 212
XHEX &R RERRX Z LB L 1= (SteelD A %) * :p < 0.05
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EFA35% X 698 += 159 644 + 290 223 += 059 316 *+ 062
SEFAT0%X 672 + 1.74 794% + 267 226 = 074 1.28% =+ 030
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xR 2.7 + 069 2290 + 91.2 720 +£270 1138 =304 50 =0 024 =+ 005
SEFA35% X 30 =024 2512 + 755 91.8 + 20.8 960 +203 50 =0 024 = 005
SEFT0%[X 37 +086 301.8 += 417 1358% =+ 418 1310 % 353 50 =0 032 =+=0.13
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